Part# 8496

Note: When installing the mount, start all bolts and
mount the compressor before tightening.

Q@
i
3/8x 1 1/4“ @

Gt G
N, Compressor S\
¢ _— (77
Q \(

/
@ —3/8" Nylock Nut

/ ‘
A\ @ \ Uz re
/ 3/4" Spacers S
O\ /
2-3/4" Spacer
(@

38 or 716 x 11"

Disclaimer

3/8 x 1V/a*

—

S Compresso%

194" Sphcer

NOTE: Some heads have 3/8" bolt holes and some have 7/16". This kit
includes both sizes of bolts for these holes. If your head has 7/16" it will
be necessary to enlarge the corresponding holes in the mount to 7/16".

Belt Info:

We use a belt length of 58 to 59" with this mount
on installations in our shop. However; this can
vary with the diameter of your pulleys and
component adjustment.

The compressor belt will run in the outer grooves
of the crank and water pump pulleys originally
used for the factory alternator. It was designed
to be used with our 7670 driver’s side Alternator

Q@ Mount,
\"W(’”fffre . .
> Standard belt widths are 3/8"” and are designated
by the first number in the belt part number. Belt

width by brand are as follows:

Gates: 7 Series followed by length

AC Delco: 15 Series followed by length
Dayco: 15 Series followed by length
NAPA: 15 or 25 Series followed by length

\L// ! 4
8@/3/8“ Nylock Nut

Qe
. ( 3/8 or 7/16 x 442"
x
: ) Eccentric
(@ 3 ; =

J«rfr{fmf
1N

N
(fop Water

Pump Hole)

7/16-20x1'%2" Bolt

- The purchaser is responsible for determining the suitability of any or all products purchased from Tuff Stuff Performance Accessories LTD.
- The customer recognizes that Tuff Stuff products may not be a direct replacement for their original, and some modifications may be

necessary.

- Tuff Stuff will not influence your use of this product in your vehicle in any manner.

- Any Tuff Stuff product shall be installed at your own discretion.

- Remember: Any Tuff Stuff product must be installed by a professional mechanic.
- Chrome plated products returned for proposed warranty with scratches or chips will not be considered for refund or replacement.




TUFF A STUFF

PERFORMANCE ACCESSORIES

Air Conditioner
Compressor Mount

8496

Big Block Chevy - Passenger Side
Long Water Pump




	Page 1
	Page 2

